Mid-point theorem, Intercept theorem, Theorem of Equal Ratio (HKMO Classified Questions by topics)
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In the figure, DE // BC. If AD = 4, DB = 6, DE = 6 and /

BC = a, find the value of a.. 5 -
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In the figure, ZABC = 90°, AK = BC and E, F are the
mid-points of AC, KB respectively.
If ZAFE =x°, find x . KT
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In the figure, BD = DC, AP = AQ . If AB =13 cm,
AC =7 cm and AP = x cm, find the value of x .
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As shown in the figure, the area of AABC is 10 .

D, E, F are points on AB, BC and CA p
respectively such that AD : DB =2 : 3, and area

of AABE = area of quadrilateral BEFD .

Find the area of AABE .
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In the figure, ABCD is a rectangle with CD =12. Eisa A B
point on CD such that DE = 5. M is the mid-point of AE
and P, Q are points on AD and BC respectively such that P M
PMQ is a straight line.
If PM: MQ=5:k, find the value of k. Q
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In the figure, AB = AC and KL = LM.

If LC =1 cmand KB =c cm, find the value of c .
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InAABC ,DE//BC,FE//DC,AF =2,

FD =3 and DB = X . Find the value of X .
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In the figure, the area of ADEF is 30 cm?. EIF, DJF

and DKE are straight lines. P is the intersection K
point of Dl and FK. LetEl : IF=1: 2,
J

FJ:JD=3:4,DK:KE=2:3. A

Let the area of ADFP be B cm?, find the value of B.
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In the figure, ABC is a triangle, E is the midpoint

of BC, F is a point on AE where F
AE = 3AF.

D

The extension segment of BF meets AC at D.
Given that the area of AABC is 48 cm?. Let the E
area of AAFD be g cm?, find the value of g .
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In the figure, if AB L CD - F is the midpoint of

BE, /A=45°, DF=3,BD=4and AD =n,
find the value of n .
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Figure 1 shows a square. The midpoint of each side is joined

to the two end points of the opposite side and a four-pointed
star is thus formed (the shaded part).
Area of the four point star

Area of the square

Figure 1 W -

Find the value of
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In Figure 1, M and N are points on AB and BC of AABC

respectively. MN and the median of AABC intersect at P. A C
AM 5 CN _3 DP D

f AM S and SN23 find the value of 22 e
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15 45 10 6 19
2009 HG10

1999 FI3.3 2002 HI5 2003 HG10 8 2010 FG1.4
2 7.5 10 E 10
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1 19
3 12
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